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SECTION A - Applied anatomy and physiology
Answer ALL questions. Write your answers in the spaces provided.
1 Define the following:

(a) eccentric contraction

(Total for Question 1 = 2 marks)

(Total for Question 2 = 2 marks)
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3 When performing a squat there is movement at the knee in both the upward and

5555 downward phases. There is a two second hold at the bottom of the squat.

2

B Identify the prime mover(s) and type of contraction at the knee joint in each phase of

L the squat.
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4 State if each of the three lever systems has a mechanical advantage, mechanical
disadvantage or both.
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(Total for Question 4 = 3 marks)

5 Summarise the functions of three structural components of the
cardiovascular system.

(Total for Question 5 = 3 marks)
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6 (a) State Newton’s Second Law of Motion.

Two rugby players go into a tackle. Player A has a mass of 91 kg and is accelerating at
a rate of 2.5m/s/s. Player B has a mass of 63 kg and is accelerating at a rate of 4 m/s/s.

(b) Using Newton’s Second Law of Motion, calculate the force of each player in the
tackle, the resultant force at the point of impact and who has the advantage.

(Total for Question 6 = 5 marks)
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7 Summarise how a nerve impulse initiates a muscular contraction.

(Total for Question 7 = 5 marks)
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8 Summarise the characteristics of the aerobic pathway.

(Total for Question 8 = 6 marks)
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9 Explain strategies the coach of a team might employ to maximise recovery
opportunities during a match.

(Total for Question 9 = 6 marks)
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10 Examine the chronic adaptions to the cardiovascular system experienced after
a sustained period of endurance training.

(Total for Question 10 = 8 marks)
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11 With reference to the exercise intensity and duration, examine how the
ATP-PC system provides energy for ATP re-synthesis.

(Total for Question 11 = 8 marks)

10

P 6 6 6 0 0 A0 1 0 3 2




BLANK PAGE

1

Turn over »

oA 01 1 3 2

0

P 6 6 6

R e R R R RRIRLIIRE:
. S , % . AN I
X0 XX X, KRR RA
RXRRRRRRK 090 ORI




*12 Analyse how the structural and functional characteristics of the different skeletal
muscle fibres contribute to success in different sports.

Use your knowledge and understanding from across the course of study to answer
this question.
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(Total for Question 12 = 15 marks)

TOTAL FOR SECTION A =70 MARKS
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SECTION B - Exercise physiology and applied movement analysis
Answer ALL questions. Write your answers in the spaces provided.
13 Define the following terms in the context of sports drinks:

(@) hypertonic

(Total for Question 13 = 3 marks)

16

P 6 6 6 0 0 A0 1 6 3 2

YISV SIHENEILIEM TON O VIdY SIHLNIEILIIM LONOG

YISV SIHLENEILIIM 1ON-OC



SOOI

. DONOTWRITEINTHISAREA

SO

SOOI

SO

DO:NOT WRITE IN-THIS: AREA:

RERERRRRRERERERERERERRRRLELLRLRERLELK

SEEESBEZELZ

- DONOT-WRITE IN THIS AREA:

14 (a) Define the term ballistic stretching.

(Total for Question 14 = 5 marks)
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15 Summarise four principles of training.

(Total for Question 15 = 4 marks)
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16 Describe five advantages of using free weights over machines.

(Total for Question 16 = 5 marks)
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17 Outline the three factors that determine the horizontal displacement of a projectile
at the point of release.

(Total for Question 17 = 3 marks)
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18 Outline the protocol for the Yo-Yo test.

(Total for Question 18 = 5 marks)
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19 Summarise the potential physiological benefits from taking three different named
nutritional supplements.

(Total for Question 19 = 6 marks)
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20 An athlete wishes to improve their submaximal aerobic fitness.

Use Karvonen'’s theory to calculate the training threshold of 50% to 85% and

2
‘;‘5-' complete the missing figures in the table below.

T

=

Z .

E Resting heart rate (bpm) 70
=

=

E

(o) Maximum heart rate 202
ol

S50 Heart rate reserve
: (1)
Lower training heart rate
(1)
%4 Upper training heart rate
:
(1)
s .
S (Total for Question 20 = 3 marks)
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21 Using sporting examples, explain five benefits of circuit training to games players.

(Total for Question 21 = 5 marks)
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22 Examine the suitability of fitness tests used to determine an athlete’s maximal
aerobic fitness.

(Total for Question 22 = 8 marks)
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23 Using examples, examine how the Magnus effect alters the flight path of a ball for
three different types of spin.

(Total for Question 23 = 8 marks)
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24 Discuss the strategies an athlete could use to ensure optimal food, fuel and fluid
intake before, during and after a marathon.
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(Total for Question 24 = 15 marks)

TOTAL FOR SECTION B =70 MARKS
TOTAL FOR PAPER = 140 MARKS
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